N = Ol & At & Al A
20158 20iat LetalH MxH
S MED
M SN2 (MED)
et Jl=3 (&9 8
S - P BR(3) - HIRAIY - BAS o sty o HI DS
MEH 289,270 286,185 3,085
SHE2AZH(MxH) 84,300 91,175 26,875
Jl=a3Hl 84,300 91,175 26,875
Jl=3H 84,300 91,175 26,875
201 Ze+24H| 46,500 50,855 N4,355
01 At22teld] 25,500 28,855 A3,355
O 2gt=8H| 25,500
0 JISAIRESHI 100,000& #1591 1,500
0 MRIDIHEMAD S 8,500,000& 8,500
0 JIEt=2EH] 6,350,000 6,350
0 THETA ADBRY 150,000 A 300
0 =AY 50,00024%101%114 5,700
0 StHR=TSAMI 7,000 +302*15¢! 3,150
02 S=324H| 21,000 22,000 21,000
O 3223 % HAl 12,000
0 RBR= 2,000,000& 2,000
0 MIIe=3 9,000,000 9,000
0 =E2=2AMAM3US 1,000,000& 1,000
O ¢zl 1,000,000 1,000
O HAIERXII 3,000,000 3,000
O Xe&sAll| 5,000,000 5,000
202 04l 37,800 40,320 N2,520
01 =LHOHI 37,800 40,320 N2,520
O Jl=ge=xd 200,000&*15¢1x12& 36,000
O S30H 10,000&*15Q1x12& 1,800
YT (MEH) 10,200 10,240 240
FHNEE2SE 10,200 10,240 A0
EbegeEe 10,200 10,240 240
203 PR =& 10,200 10,240 240
01 J|22d 28| 6,600 6,600 0
O J2=2dge=d 6,600,000 6,600
02 HRIHHRFAH] 600 640 A0
O HAMAR=A 40,000+ 15X 600
04 FEAE2IHRFAI 3,000 3,000 0
O BEA2Zge=d 250,000& 122 3,000
MEH 2R 104,770 104,770 0
SclgHEXIZZH| 97,270 97,270 0
ScletyEs2y 97,270 97,270 0
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